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Time: 3.00 Hours ' . %dard 12 o Marks: 9
MATICS T . -
L Answer all the questions PART-1 : ’—202(1—20
Y IfA:[? }OJand B=|! 4 ' A
a)-40 ’ 2 o]then Jadj (ap)| = L e it
C TR b) -80 & 60 d)-20
) rA=|? 3] - o o R
|5 _p|be such that, XA‘1=A hend Is ESE N
3) ?2(17)( b) 14 0) 19 j21 ,
H 1+2') (1+3i)...... 14niy— +n2)|s 3 1
4) V\;h . ey ( nl) x+xyth::a)nxzzil:?2 (1 Ej214,,121, 1
ich of the following 'S ot a cube root of unity . ;,., TR
2 : .’.b)—l 9 -1-i3 , ,d)l.:

a) 0 é i
6) The number o by C) 25176
oy er of real numbers in [0, 2n] satlsfymg sm“x 25'”2"+ 1
4 A ;rd)‘” s
1 4 )"
7) Angle between y% = x and x2=y at the o:-:n)gm is Ry
3 . . . , i i - L
a) tan7ty b) tan- 1% N c) o "7,: 1d4)%’-r .'—ff:
8) The order and degree of the diff
ere t = =
respenonrd ntial equatlon, dy+ (XY c sx)dx D are
a)2,1 b, L O, 30 ks Jd)l 2
9) If u(X Y) X'y then 'aaTu“ls eQUal to &2
a) e N b)2xu R ,c)xzu,'

X aS.m o .
10) If sin ‘§+_‘ cos ec-,rl 2~ 7 /then'the value of x is’
A4 NP b)5 )2 -

2.0 4

| 11) Area of the greatest reactangle mscrlbed in the elhpse £+y_ =1
\ . g RREY) . lS
,a)2ab - " b)ab - ) Jab . = -d)~—a——A'.
o _ A S L
12) 1ffa.5;5.é=&,3=0 then value of [abclis ¢
SRR wsR i

13) The angle between the line . F—(T+2J 3k)+t(2|+J Zk)

andﬂ.the
,r(+J)+4 Ois ,.,pl_ane

e

a) 0° : b)30° - qe4s d‘)"9Y0.3 o
14) In the set Q define apb=a+b+ab- For what valye of ,, 3o(vo5)
-2 77
SEEEI b)Y-— ) y=3

2 d) y=4 -
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T5|12M -7y -2
15) The number of rows in the truth table of (Pv -wt) A(Pv=S)is
a) 6 b8~ -9 d)3
-A16), *lfP(X 0)= 1 -P(x=1), IfE(x) 3Var(x),then P(x=0) is
2 1 d l
os= sza) b) 5 s )3

17) The solution of the differential equation % = 2XYis

aly-—ce b)y 2x2+ ¢ C)y-cez+c d)y—Xz'l'C
18) The volume of solid of revolut|on of the reglon bounded by yz =x(a-x) -
about x-axisis - . “ & S
,7[63 v 3 . 7¢'a3
2) S by of " A
19) The type of ConIC sectlon for x2 - 2y =X+ 3 is '
* a) hyperbola “b)ellipse . . ¢) circle d).parabola
20) If |adj (adj A)|- |A|9 then the order of the square matrix A is
‘ a)3 ~ ob)4 2 . d)5
: PART - 11 .
Io. Answerany7questlon5 Q.No,30is compulsory - S 7x2=14
21) Solve the system of Ilnear equatlons by Crame's Rulé: 5x - 2y + 16 = 0,
x+3y—7 0 '
22) Flnd a Polynomlal equatlon of mlmmum degree wrth ratlonal coef‘ﬁuents

Nk T [REAE S PSRN

havm_g 2- J§|s a root

e 1.--._”,;-_ _

tan —+tan = i ©

23) Prov{e that 2 3 1% Y : :
424¥) Fmd two posntuve number whose sum is 12 and their product is maximum -
‘25) Find the Volume of the paralleleplped whose cotermmous edges are

'represented by the vectors 2| 3J+4k, i+72j-k and % ]+2k
26) A random varlable X has the followmg probablllty mass function -
1 2 [ 34 ES 6’ '
’ f(x) k 2k |6k ] 5k ek. . . _10k :
- Find the value of k? ' N

27) Let v(X, Y, ) = Xy+YZ + X, X, ¥, Z eR, -Find the dlfferent|al dv

28)" Find centre and radius of the cnrcle 2x242y2- 6x+4y+2=0.

29) Find the differential equation correspondmg to.the family of curves represented

i by the equation y = Ae’™ +Be™™, where A and B are arbitrary constants
T R S DRI S e S :

-

2

q " log2
[_ - ; . e—l)(]d 5
30) Evaluate; X
—logz
| PART - 111 . o
- IIL Answer any7quest|ons Q. No 40 is compulsorY ' . 7x3=21
2261 ot et ' 2 2 4 3
-3 4 =2 -l
31) F!“d the rank of the matrices by row reduction method

B A 6 2 -1 1
V=i v

‘ 1 P
32) If z= CO"()HSmO . show that DAL e ?Cosn()and z" Z" =2isinng
Py i z"
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'43) Solve the equation’ 9y
progression. ‘

3 .
+ an arithmetic

738X+44x-16.0. 1f the roots form

2
' on the parabola y2=4ax meet

. Y <1 l
34) Find the value of tan™(-py, Cos-! (1j+ it (_])

35) If the normal at the pojnt < the parabold

again at the point 't,', then Prove that t, = —[t +_2,] '
. l ]
tl
36) Prove, using mean value theorem that Isina-singla-Fl a feR
37) Find the volume of a right - cireyjay cone of base radius r and heig* "

dy  y . . 1

. dy.Y _
38) Solve B Sinx
39) Deﬁne'an operation * on Q‘as follows:

a+b : ' .
a*b= (T) :.a,/ b € Q. Examine the existence of identity and the existence.

of inverse for the operation * on Q

40) P_royg' that [5 +bb+cc+ é] = 2[5 B/E}

PART - IV
p ~ 7x5=35
" 41) a) Investigate the value of jand /lt_heh s!ys’te'm of _linear equation
2x+3y+5z=9; 7x+3y-5z=8, 2x + 3y + 1z= 4, have (i).no solution (ii) a’

** unique solution (iii) an infinite number of solutions.

IV Answ_e_r ai! the questions.

. o (OR)
b) Forthe function f(x) = 4x3 + 3x2-6x+1. Find the intervals of monotonicity,
" Jocal extrema, intervals of cancavity and points of inflection :

3

X é .
X6 +YY2 when (X,¥) # (0,0)and g(0,0)=0 then prove that It is

42) a) 1F I ¥)=
"not continuous at (0,0) o
‘ ' (OR)
NN i . h.tr.1.‘t1 22+1)

- b) Ifz =x + iy is-acomplex number suc . § m\ 721 )= 2, show that the
]bcuéofi-is"2x2+2y»2fx-2Y='0 4 . . -
43) a) If cos-ix + cosly+cosTiz=m and 0 <X,y 7 < g gpo that

: X2+y?+72+2xyz=1. o : L ‘
y_ - “ . (OR). |

b) Find the population of @ city at aglytg"gf t,
" increase of population is proportiona’ t l t'e po
- and that in a period of 40 years the popufation i
_t04,00,000 ©

inep that the rate of -
pulaiton at that instantA i
ncreased from 3,00,000

- : 4x =2y + 21 =0, find the cort
44) a) For the ellipse 4x? + y2+2 d the cent e
) : : and the fog. Also prove that the ;ength of latus rectym is zre, Vertices,
- ) d N (OR .

y ' _ —gvr)using't ' '
b) Prove that P — (<avr) =P ¥ (™ ) using ruth tabje -
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45) a)

b)

| 46) a)
b)

47) a)

b)

4

Find the non-parametric form of

v , , ;
of the plane passing through t €ctor equation and cartesian equation

€ point (1, -2, 4) and perpendicular to

the plane X + 2 = 32 = 11 and Parallg| to the line Xe7_¥r3 2
-1 1

(OR)

Suppose a discrete random variapje C |
The probability mass fUnctmn is deﬁnzg gcly take the values 0,1and 2.
2 '
X, forx =01,
fx)=1 K " find (i) . :
0 otherwise (i) the value of k - (ii) cumulative

distribution function (ii)-P(x 2 1)

Find the area of the reglon com : L N

parabola y2=6x | mon to’ the circle x2+y2=_16 and the
. (oR) 0

r a%2i+3j_k' | b=3T+5j'+2_|2-,' E=~7;23'+3[2; verify that

ax(bxc)=(a. C)E"(é"f’)"' S Savpkywb R M

If 2 +iand 3 3 are roots of the equatlon Si Rarwo W\a\rhv e

X5-13:6+62x"- 126x3+65x2+127x-140 =0 \fs\JUZgz/m @9,799”?
.. (oR). Tunkess Do st

Onlighting a rocket Eracker it gets |
prOJected in a parabolrc ath and .
reaches a maximum height of 4m when it is 6m’ away from thgpomt of

projection. Finally it reaches the ground 12m
point. Flnd the angle of PrOJECtlon away from the starting

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

|


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

